4 3 v 2 1

MODELS 27 GA SHORT 27 GA FLUSH 27 GA LONG SHEET: REVISIONS
— 4300, HDG 4301, HDGF 4310, HDGL 1 OF 3 |Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
03 - 5/13/14 - SH REVISED FOR APPROVAL.
HOLMES 66, 666G, 6200 68, 6201 67, 67G, 6203
OPTIONAL ROW OF IMPACT—RESISTANT GLAZING.
IDEAL SP200 SF200 SE200 MAX. GLAZING SIZE IS 18-1/2" x 11" IMPACT—RESISTANT CONSTRUCTION:
GLAZ'NC IS INJECTION MOLDED GE LEX;‘\N SOLID DOORS (NO GLAZ|NG) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
D (1) 20 GA. BACKER PLATE BETWEEN EACH SLX2439T AN APPROVED CC2 PLASTIC IN IMPACT—RESISTANT. OPTIONAL INJECTION—MOLDED POLYCARBONATE FRONT FRAME AND
EMBOSS LOCATION THAT CONTAINS A CENTER ACCORDANCE WITH IBC/FBC 2606 GLAZING IS GE LEXAN SLX2432T, AN APPROVED CC2 PLASTIC IN ACCORDANCE WITH
HINGE. ATTACHED WITH DOUBLE SIDED SEE SECTION B-B FOR ASSEMBLY DETALS. [BL/TOE 2500,
AGBYLE & THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
CRYLIC: ADRESIVE TO BACK OF DOORB. A & (GLAZING SHOWN IN INTERMEDIATE SECTION.) WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
U ‘\ /‘ STRUT AND TOP BRACKET CODE AND IS LARGE— AND SMALL-MISSILE IMPACT RESISTANT.
ARRANGEMENT WITH STANDARD
/ ¥/ v/
% Vi 4 Vi 4 Vi 44 Y I 7 Vi Z Vi 7/ /% Z % ENBSTILE. AND' TOP SECTION ‘SOUID STRUT AND TOP BRACKET ARRANGEMENT WITH
T OR GLAZED (SHOWN). / STANDARD ENDSTILE AND LITES IN TOP SECTION.
— | 16 GA. DOUBLE END STILES. — 3 = [
ST i T ey o pro—— e o e e o e pp—— MAY BE NOTCHED FOR LITES. 7
] | o i 7,7, Wz 7 7%, 7,7, [#
. ‘-.8 T | | | I| | | ! | | | | l: :I ‘: :I // // %{ / ﬁ / // / // / // //
Rl g ' \ J | \
Y B e R —— e R e e e e
=5 =Ry [ gy (Ee—| (e ] [peosos s VIEW "B" (SEE SHEET TWO). e |l e i e | e T e T i e T e
C %L:E' [ 1| |1 | 1 |1 || il i 0 VIEW "C" (SEE SHEET TWO). T Ll 0o il Rt ] 0o
= @
)
© 8 =l e W e el e e i e
Xé ] I 11 I il I 1 I I I I 1 I 1] I 1 I I I 1 I 8] 1 I I 11 1 I 1
% S T | | | | | | 1 | | I 1 | I | \ | | I | 1 | | | | | | 1 | |
. TWO POINT LOCKING
B e — s— e ~._ INTO TRACK. —— e————— T — ———— e e e
————— T oy [Py pesapl pestony gl eeneny REeas U-BAR. sy el |pemeey peeccap|geanmy gRmeeeg] jpemanen pone
T S | [ S NS |1 TS S ¢
_’ L] . T-STRUT. [i
l_ N (1) 3-IN ROLLER CARRIER (P/N ' i
-——A N\_ 0120394) USED WITH 3" TRACK.
MAX. DOOR WIDTH = 18'-2" ATTACH WITH (3) 1/4"x3/4" SELF SNAP LATCH ENGAGES
INS VATION TAPPING SCREWS, ONTO VERTICAL TRACK. END
DOOR HEIGHT LAY ONE SNAP LATCH ON STILE.
SECTIONS EACH SIDE OF DOOR.
o SLIDE BOLT LOCK
B 7U§ TTDEI 7809 ; END ENGAGES INTO
‘3 9 . . VERTICAL TRACK. OUTSIDE
97" 10 106" = SECTION B—B (IMPACT—RESISTANT GLAZING OPTION) STILE. ONE LOCK: ON ey LocK BAR
109" 70 12'3 7 +7 7\ DETAL D’ EACH SIDE OF  ourtsiDE END ENGAGES IN
12'6° TO 14'0* 8 @ DOOR. KEYED . STILE TRACK ON
TR 5 — HANDLE. : EACH SIDE
160" 10 OF DOOR.
) ™. LOCK OPTION. OUTSIDE_KEYED LOCK WITH QUTSIDE_KEYED LOCK WITH
] OPTIONAL DECORATIVE ’ —2.25 —] \ MULTIPURPOSE HIGH BOND TAPE LOCK BAR LOCKING.
SNAP—IN INSERT_\</ _‘T(BETWEEN FRAME AND FACADE). SNAP LATCH LOCK OPTION.
L, / /—DECORATIVE FRONT FACADE.

O.ISBJ \ / ]_, \STRUCTURAL SILICONE SEALANT MANUFACTURING PRODUCT CODE
/ (BETWEEN STEEL SKIN AND FRAME). DESIGN LOADS o PSr & 500 Par DSIE-1F171
. IGN LOADS: +46.0 P.S.F. & —50.0 P.S.F.
\\_____/-/ TEST LOADS: +69.0 P.S.F. & -75.0 P.SF. PART NO.: N/A
g‘!fécglE%EESilsl\le?cTTEON Unless Stated Otherwise | (s ﬂpay 8585 nge Eg%evogg WINDLOAD RATING
_ = ' POLYSTYRENE RETAINER FASTENED TO FRAME WITH TOLERANCES are -'}I Mason, OH 4 U
MOLDED GE LEXAN . Tel. No. 513-770-4800 8 D 6
Py . SLX2432T FRONT (10) #8. x /4" Pal HEfD MACHIEE, SORENS. ‘ 0 = +.031 |Buiding Products Compony  Fox No. 513-770-4853 \/\/ P 4
) ‘:. FRAME & GLAZING. O-gg = i-gég DESCRIPTION: 2" EPS INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
] ) ¢ ’ . = o
Y ﬂ(\ v : ‘_\_"' - 0000 = +.001 DRAWN BY: SH DATE: 11/8/12 |SCALE: NTS DWG.
DESIEN'GE NGINEERs Degrees = +1/2° [CHECKED BY: SH | DATE: 11/9/12 |SHEET 1 OF 3 |SIZE
MARK WES‘TER@WE‘L‘D. P.E.~ Unless Stated Otherwise
FLORIDA P.P*48495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104752 VER: TDI

4 | 3 - 9 1



4 3 < 2 1

MODELS 27 GA SHORT 27 GA FLUSH 27 GA LONG SHEET: REVISIONS
CLOPAY 4300, HDG 4301, HDGF 4310, HDGL 2 OF 3 REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
03 - - - - SEE REVISION HISTORY ON SHEET ONE.
HOLMES 66, 6606, 6200 68, 6201 67, 67G, 6203
IDEAL SP200 SF200 SE200
SILICONE FILLED CHANNEL SEPARATES
},‘ FRONT AND BACK SKIN OF DOOR.
- TOP_SECTION WITH LITES: (2) 18 GA. GALV.
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING 1.95" THICK, 1§ DENSITY : ) STEEL TOP ROLLER BRACKETS (2-7/16" x
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: EXPANDED POLYSTYRENE FOAM il - 3-3/4 )." EACH BRACKET ATTACHED W/(4)
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 INSULATION LAMINATED TO BOTH #14x5/8" SHEET METAL SCREWS.
Sithon w ot S| it Lo T ouy o
; TOP ROLLER BRACKETS (2-1/2" - i
ALTERNA“VELY. THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE | EACH BRACKET ATTACHED( W/(/‘]-) #;(1 4X5/8“)
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE —La SHEET METAL SCREWS. ADJUSTABLE SLIDE
MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. ’\/\- ATTACHED TO TOP BRACKET WITH (2)
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE 1
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE i
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, TONGLIE -AND: GRODNE OIS, ?ngv?{NéO§J§L|T¥)INi\)nTIHNT(E;ng§ 3&%3\‘/‘”
T A - . .
THE JAMB ATTACHMENT FASTENERS MUST BE OF SUFFICIENT INCREASED BAKED—ON PRIMER AND A BAKED—ON

LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE
PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS
OF THE SUPPORTING STRUCTURE.

gt

POLYESTER PAINTED TOP COAT APPLIED TO
BOTH SIDES OF STEEL SKIN,

-

4-1/4" 14 GA. GALV. ROLLER HINGE. EACH HINGE
/2" FROM EDGE I8 FASTENED TO END STILES WITH (4) #14x5/8"
\ [T #14x5/8" SHEET METAL SCREWS VIEW "D" SHEET METAL AND (2) 1/4"%3/4" SELF
4" TALL TAPER STRUT. TAPPING SCREWS. SEE VIEW 'B".
" MIN. 0.062" GALV. STEEL "
H - 3" TALL X 20 GA. GALV. STEEL U—BARS.
i 0 MIN. 80 KSI. s T ONE U—BAR AT THE TOP OF EACH SECTION.
i \ | — T ATTACH WITH TWO 1/4"x3/4" SELF TAPPING
i \ SCREWS PER HINGE.
1/4"x3/4" SELF
TAPPING SCREWS. ONE 4" T—STRUT PER SECTION (SEE VIEW
14 GA. END HINGES 18 GA. (MIN.) INTERMEDIATE HINGE " — "D"). EACH T—STRUT ATTACHED" AT Ef«CH
VIEW "B" VIEW "C" HINGE LOCATION WITH (2) 1/4"x3/4" SELF
SRR TAPPING SCREWS.
PREPARATION OF JAMBS BY OTHERS, T . en—

SKIN WITH G—40 MIN. GALV. BAKED—ON
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): POLYESTER PAINTED TOP COAT APPLIED
3/8"x3" LAG SCREWS ON 17" CENTERS. 1-1/8" 0.D. WASHER REQUIRED. LAG SCREWS TO BOTH SIDES OF STEEL SKIN.
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

13 GA. GALV. STEEL BOTTOM BRACKET ATTACHED
WITH (2) #14x5/8" SHEET METAL SCREWS.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

- THIS DOOR MEETS OR EXCEEDS THE DESIGN
VERTICAL JAMB ATTACHMENT (C—QO BLOCK OR 2,000 PSI MIN. CONCRETE COLUMN).‘ LOADS FOR THE ULTIMATE WIND SPEEDS LISTED
3/8"x3" SLEEVE ANCHOR BOLTS ON 10" CENTERS (2,000 PSI MIN. CONCRETE). ggt)%wo?ecgrgEDIIN'?EJSATTISEJA[LCB’%?&E&, "E:%gg SECTION A—A (SIDE VIEW)
V . -
WGEHERS INCLHIOED WITEL SLEEVE ANGHORS (BASED ON ASCE7-05) FOR THE FOLLOWING
- 5 5 CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR
1/4"x3" TAPCON SCREWS ON 8" CENTERS (2,000 PSI MIN. CONCRETE) OR 5" CENTERS HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3)
(C-90 BLOCK), 1" O.D. WASHERS REQUIRED WITH TAPCONS. ANY ROOF SLOPE, AND 4) TESTING IN
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING ACCORDANCE WITH ANSI/DASMA 108. RiehitEnGTURING PRUFHCT CODR
SURFACE. HORIZONTAL JAMRBSs 00 NOT TRANSFER LOAD. SITE-SPECIFIC CALCULATIONS BY A QUALIFIED DSIE-1F171
-~ Vi DESIGN PROFESSIONAL MAY DIFFER. DESIGN LOADS: +46.0 P.S.F., & —50.0 P.S.F.
SN LN DESIGN WIND o 55 170 | TEST_LOADS: +69.0 P.S.F. & -75.0 P.SF. PART NO.: N/A
OTHER _JAMB CONFJGUR?ATIONSEREFI-_R T DASMA TDS—161. A LICENSED DESIGN SPEED (MPH> Unless Stated Otherwise -ﬂl 8585 Duke Bgubevosrd WINDLOAD RATING
PROFESSIONAL MAY ALSO BE~EMPLOYED TQ/APPROVE ALTERNATE FASTENERS AND/OR P TOLERANCES o |umm WIOPAY  Vooo %5359 500
Tel. No. 513-770-4800
JAMB CONFIGUR#T'QNS CATEGORY BC | BC B 0 = +.031 |Buiking Products Compony  Fox No. 313-770-4853 \/\/ 8 D P 4 6
z o e ot ML g 00 = £.015 DESCRIPTION: 2" EPS INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
: :-..*-\_-\S ML oL MEAN ROOF HEIGHT | 25 15° 30° 000 = +.005
A =x .5-/5 / 0000 = +.001 DRAWN BY: SH DATE: 11/8/12 | SCALE: NTS DWG.
DESIGN ENGINEER: 'f' o N Degrees = *1/2° CHECKED BY: SH DATE: 11/9/12 |SHEET 2 OF 3 |SIZE
MARK WESTERFIELD, P.E. o Stated Otherwi
15 DMENSIONS. ARE 1N INGHES.| DWG. NO.: 104752 VER: TDI

FLORIDA P.E. #48495, NC P.E. #23832 TEXAS‘ PiE. #
g

4 *._.‘ L

| 3 o 2 1



4 S s o 2 1

MODELS 27 GA SHORT 27 GA FLUSH 27 GA LONG SHEET: REVISIONS

— 4300, HDG 4301, HDGF 4310, HIGL 3 OF 3 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
03 - = - — SEE REVISION HISTORY ON SHEET ONE.

HOLMES 66, 66G, 6200 68, 6201 67, 67G, 6203

IDEAL SP200 SF200 SE200

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS.

NOTE: TRACK CONFIGURATION ABOVE THE

3" TRACK CONFIGURATION DOOR OPENING DOES NOT AFFECT THE
DOUBLE TRACK
(ALL SIZES). WIND LOAD RATING OF THIS DOOR. JAMB AEON,;'GEJSRAT'ON Low HELLBQRQQTSA CQ};TION
CENTER HANG REQUIRED FOR (ALL_SIZES).

DOUBLE HORIZONTAL

/ DOORS OVER 8' HIGH,

’ J TRACK,
- 2 1" DOOR OVERLAP (EACH SIDE) — |— £
7 ] 2x6 SYP WOOD JAMB. SEE STOP MOULDING BY DOOR INSTALLER (TO SUIT).
3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB ATTACHMENT" NOTES. ™ 16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER
! THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK SCREW. END STILE DIM.: 5-3/4 X 2-1/8" X 3/8".
MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". SUPPORT BY DOOR N |
VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING INSTALLER (70 ‘SUIT). 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED } ?
- JUNCTION. TWO 1/4" BOLTS |—— FROM LAST MOUNTING i SR LA TR MGURRHE W SRAgE
& & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION : CONEICUREADN 'O BAGE ONE . I 18 GA. GALV. STEEL CENTER HINGE
] = : 7/16" 1.0. ROUND FASTENED TO INTER. STILES W/(4) EACH
- PUSH NUT #14x5/8" SHEET METAL SCREWS.
s A ADDITIONAL MOUNTING SLOTS FASTENER.
a [ SRAGED WI 12" IGENTERS: 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
i TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
— —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
z - NUT AT EACH MOUNTING SLOT.
: E‘ 3" DIA. 8—-1/2" LONG STEM BALL BEARING STEEL ROLLER.
Lo SECTION C— MANUFACTURING PRODUCT CODE
% 34" SglEJ-N #;GTRQ_%KT ?8&7?8*? NUT AT EACH % PREPARATION OF JAMBS BY OTHERS. DSIE-1F171
g E ' DESIGN LOADS: +46.0 P.S.F. & —50.0 P.S.F. T
‘ soor T TEST LOADS: +69.0 P.S.F. & —75.0 P.S.F. ART NO.: N/
4 Unless Stoted Otherwise - 8585 Duke Baulevard WINDLOAD RATING
) 22 HEIGHT [TRACK LENGTH w [:I foog Dike soddoid
‘f 7-0" 172 TOLERANCES oe | umm WROPAY 1355 91,5502 650 \A/ 8 D P ‘4 6
R 8-0" | 84" 0 = %.031 Building Products Company Fax No. 513-770-4853
A <A i 9-0"| 96 ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 —T ey = 7
" ._ it 10 10-07 108" DISTANGES AS THE TRACK BOLTS (LE. 3-1/2". 10°, 22" 34" oy e DESCRIPTION: 2" EPS INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
sy /2" }ﬁ.'g. ]gg 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 |DRAWN BY: SH DATE: 11/8/12 |SCALE: NTS DWG.
DESIGN ENGIMFER: ¢ -+ = =, . 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2°
C oL = : &4 1 SIZE
MARK WESTERFIELD, P.E. TR TT T 16-01 120 VERTICAL/HORIZONTAL TRACK JUNCTION. Unless Stoted Otherwise CHEORED Bt B PATE: /%1 |BHEET 3 OF 3
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104752 VER: TDI

4 | 3 “~ 2 1



